Name Date

1. Solve using number bonds to subtract from 100. The first one has been done for
you.
a. 105-90=15 b. 121-90

"\

100 5

100-90=10

10+5=15

c. 112-80 d. 135-70

e. 136 - 60 f. 129 -50
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g. 156 -80 h. 138 - 40

2. Monica incorrectly solved 132 - 70 to get 102. Show her how to solve it correctly.

Monica's work: Correct way to solve 132 — 70:

3. Billy sold 50 fewer magazines than Alex. Alex sold 128 magazines. How many
magazines did Billy sell? Solve using a number bond.
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Answer Key

1. a. Answer provided.
b. 31
c. 32
d. 65
76
f. 79
g. 76
98
2 62
3 78
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